flux

A? / 0.4973

A? / 0.5002

60

40

20

100

50

Fe2 + Continuum Fit
oy 434 km/s

Opep 845 +/— 175 km/s
] —rez -

1500 2000 2500 3000 A 3500
Rest A (&)
Fe2 Scale Factor x2 Diagnosis
o, 434 km/s 0.01459(29) X2min / 4586 = 0.4973
T T T 1 T T T T T T — T T T T T [ o L —1 T T T T T T T
rm607 RMS 7.48

- MAD 5.75 .
P TR T TR I S T N T NN P N TR T WA S [N WA TN TR TR [ TN SO SN T N T S

0.011 0.012 0.013 0.014 0.015 0.016 0.017 0.018

Fe2 scale factor

Fe2 Velocity Dispersion x2 Diagnosis

Fe2 Dispersion (km/s)

gy 132 1820 prior 225 km/s —840(170) X2 / 4586 = 0.4973

T T T T I T T T T I T T T T I T T T T I T T T

[ mB07 RMS 375 ]

i MAD 30.5 ]

L L L L | L L L L | L L L L | L L L L | L L |-
0 500 1000 1500 2000



